EAGRAROBREERT — 2 N— ABISH —F

202055R6H (k) 2[EfntE3H

mﬁsgmé pAER] B2=B3— 4% BN
[A&4£] 1 7% :2,600,000 ™ 23 :1,040,000 @ 33 :650,000 4 7% :390,000 @ .~ 5 7 :260,000 M
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
= = e EBH 142, -9-6- . — NIARE (GFN)
N BEEESTLEPL 4 6 B 1(4_2)8 9-9-6-5 | 39.1 2 :1_5;1) fv
A:Discreetly Mine B:5>=>JRKTxvvY J=HrTr—L
$T 4 o6 | ABEX 1:42.8 2-2-2-2 | 39.9| — 7 476 | NAIRE (GAFN)
oWl g| 7IVRRIVINTIVZ 57.0 (7E) (+1) |HimRockRac ingHD (#
A ZFA4d—IV R B:OyF—/Ny /N BN T 7 — L
NPTV > A : —-6-4- - RS (AafE)
5 (o R UTL KT A v 5| @ 1(.3%0 7-6-4-4 | 39.6 1 (5_012) i
XD THANAN BERT 7L BIT HET7—L
. SE . _a_a_| — &z (J11Ig)
N : BEEZA:EPPE # 5 2z 1(.14/32.)1 8-8-8-6 | 39.3 5 (5_03 il
L:a—RVEIIL B:FT4 77— FrEF T —L
o o7 | EINHE 1:43.1 10-10-10-8 | 39.0 | — 12 | 498 |FUEA (#F)
5|7 1| /Y- VFITE 57.0 (7€) o) | TR
L=V FITyva BYRNEIANY 4L TR
¢ s # o4 | AHES 1:43.3 1-1-1-1 | 40.6 | — 6 520 |WTEZ (faf)
6!5|6 TNREA Y — 57.0 (1) (-2) BAEE
R:r—775>0 B:YUAAFAIZR TS
N 4 o6 | HEfE— 1:43.7 1-11-13-12| 39.1 | — 4 494 | RBEF (1B)
717(10 AV 4=7 57.0 2 42) ) Ty
R:BALINT Ry 7R B:d—IWFL7— BREB  f2AKER
S S 44 | EIHGEAER :43.8 5-5-4-3 |40.4| — | 3 | 458 |WEE (iafF)
857 | XX/ FTs— 57,0 e o) |FABT
Lixfoavyay BEPIN-—Ya FH) T — L
SRS 4 6 | HTHER 1:43.9 12-12-11-11] 39.4 | — 9 492 | EEEEL (MA1S)
N . PSR 57.0 76) (o) |EREIE
L:F4—TZAHA B:IL—IK)a1X Blite
EESRTES 7 | WEEE 1:44.0 6-7-9-9 |40.0| — 10 | 481 |BEES (M8f)
10 4 EAYY v = E 7.0 (1/2) (-2) é?é”lIEEjat
LY TA RNy HR B IVAFLFAR YA T
3R . 1311- _ EBEE (1)
11 g|LAFTUIXA b i 6 EED 1(.14/42.; 13-13-11-10 39.6 8 (5_116) BHEFEZ
R:TTyTaAK BiAIHHL Y~ RO
— o= 3 s, s t> 6 | BARE 1:44.3 4-4-6-13 | 40.6| — 13 | 492 | FEAEE Gaf)
11| TAF1x1>a> ~ 7] 850 ) SITNE
R:ARM)—hE>RX B:SATRR—1— H—L— - JvX> - T7—LARS
S A £ 5 | WOESR 1:44.7 3-3-3-7 |#1.5| — 11 471 | BIFIERE (#A48)
13/8|13| P37 >7X=7 77 80 @) Gy |PREE
LTANNTTFY— BIVEDZR % B
® I—F—@EBIERL
|3=7r= 6,8,13,1,7,4,12,3,5,11,10,2,9
2ol=5"= 6,8,13,1,7,12,4,3,5,11,10,2,9
P =zr= 6,8,13,(7,12),(1,5),3,4,11,(2,9) ,10
AT =zr= 6,8,7,12,5,3,13,11,4,9,2,10,1
[ N
B 5 490/ 794K 5-8 1,520/ & 4-6 1,580 &R 5-8-12 4,240
# B 5 160 5-12 340 B 4-6 3,210 EE 5-8-12 31,560
8 370/ 8-12 880M B = 5-8 5,270M
12 1309 B H 5-8 7,250

ARICOVWTRDTEEERROODE. TR LI,




